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Warm Up

Find the x-intercept of:
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Ploblem

Problem 2.3 Recap

) Use the methods of Pablo and Jasmine, and Samantha to solve each system.
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@ 1. IsSystem B below equivalent to System A? Explain.

System A System B
'ZP\H; 10} ———){h+2» 10
dx-y=6 -2y=12
2. Use the combination method to System B.
3. Check that your solution also satisfies System A.

We figured this out when we did A4.

@ For each system:
« Write an equivalent system that is easy to solve using the
combination method.

« Solve the system.

« Check that your solution also satisfies the original system.
2x+2y=5 x+3y=4
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Elimination Practice

Lx—-y=1
x+y=-9
4.2x + 5y = -3
2c+ 2y =6

7.5x+2y =17
—-2x + 2y = —14
10.2x — 6y = 6
2x + 3y = 24

More Challenging

FRoNT

2.p+q=-2
p—q=8

5.3x + 2
4x + 2

—1
-6
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8.3x -9y =—-12

3x — 15y = —6
11.7x + 2y = 2
Tx — 2y = =30

BACK

Use elimination to solve each system of equations.

lLx+y=-9
5x — 2y = 32

3.2x +5y=3
—x+3y=-17

2.3x +2y=-9
x—y=-13
4.2x+y=3
—4x — 4y = -8
6.2x +y=10
bx + 3y = 2
8.2x + 3y =14
3x—4y =4

10. 3x + 2y = —26
dx — 5y = —4

12.5¢ + 2y = -3
3x+3y=9

3.4x +y =23
3x —y =12

6.5x + 3y = 22
5bx — 2y = 2

9. —4c - 2d = -2
2c —2d = —14

12. 4.25x — 1.28y = —9.2
x+ 1.28y = 17.6

Options:

1-6 on Front
and 1-6 on
Back

OR
Back 1-12




Homework

Finish classwork



